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Instructions:
1. Attempt all five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
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State the chemical compounds of Ordinary Portland Cement with the
abbreviation and state the function of each.
Write the name and the use of any SEVEN types of cement.

Explain compressive strength test for Ordinary Portland Cement

Explain Classifications of Aggregates according to texture and shape.
OR

Explain in detail ‘Crushing value test” for aggregates.

Define workability of concrete and explain how ‘Slump Test’ is carried out in
laboratory.
Why compaction is done for concrete. Explain types of compaction for used
concrete.

OR
Explain methods of mixing concrete.
Describe mehods of transporting concrete.

Define (1) Durability of concrete. (2) Impermeability of concrete.
The following are the average compression strength test results, in N/mm? of
ten samples of concrete. Tabulate the results and calculate standard deviation.
26, 22, 26, 23, 24, 23, 27, 28, 24, 27

OR
Describe with sketch different mould sizes used in compression test of
concrete. Discuss effect of size on strength of concrete.
Describe the factors affecting strength of concrete.

What do you understand by ‘Plain cement concrete’ and ‘Reinforced Cement
Concrete? State the minimum cement content required in both situation for
Mild, Medium and Severe exposure.
Design a concrete mix from following data by 1S method:
(1)Target mean Strength = 30 N/mm? (2) Water content =210 kg per m? of
concrete (3) % of fine aggregate in total volume of arregates= 30% (4) Water
cement Ratio= 0.55 (5). Specific Gravity of Cement= 3.1 (6) Specific
Gravity of fine aggregates = 2.60 (7)Specific Gravity of coarse aggregates =
2.80 (8) Entrapped air= 1%

OR
Write a short note on cause of corrosion and preventive measure for the same.
What is special concrete? Explain Ferro concrete and Resin Concrete.
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